B2 ERIRE 1 4 5 K OHTHER DR R ILEE DUV T
(1 1HOKEO O4HLE)

1. BIKKRRIER
1OH85 1 9KF1 874y LTI RIS (LrbKE) %K

10H9H 2 2WE4 94y FRIC KN E R (L RE) R

10A10H OFE4 04y BRI WD S EE NG R
2WF0 5% KB KIE®R (LbE) Bk
54 457 SR, MEBMIZRKNER (LWKE) R
T2 44y REFTNIZKIZHR (LKE) xR
1 0WE1 5% =K ERBE
1284 14y ISR TR 9B S I
1 6WF3 274 s BT UK ERIER
1 70 0%y =hr, R EFNIZ KRR 2 R
1 8EF1 274 KEBWETIZ LHD S EE G A

2. XTETH DX
OR T 9H 1 4KF0 04y *PR&EF
10H 8EFO 04 XIREEEM
ORI EFF 9H 104 5% xRS FEM
OFr ST 8H13KF0 04y *IREHEIN
10H 8KFO 04 xIRE#EIE
OFPEE SR 9H 1 3FE3 0% xREHEFEM

O ==kt 9H14H0 0% “<”ﬂifﬁ%ﬂiiﬁ%%
10H 9KF0 04 *IREHE

OJ\SLHET 9H 9EE3 0% Aﬂﬁ%A 15 I it
9H16K0 0% HEIREHEIM

10H 13004 xIFESHEEh

3. RERHBOXIIE
8H 19KF1 8%, IHHEMKES A
9H XKE. ZFE., \XBI&E 14 =Y U EIRER
- 10H 1 7FO0 0%, HITHEMIG X RAES 4 5% &
1 9WFO 047, HAEHNIGER RAT ik % B
=AY, SRR ST SRR & i



4. HERR

O AWfEE  #wERL
O WigksE #WwERL
O Z0fth
5 B OUFF TN T —HEB 81T 1k o
[l X D 4 AT T RIS D
FER X oW & R—Ifffr T b Rivd v
FNEMAT TN S
AL B BEEER Mg 2Emdy  WITIED
SEMGE A% L ETH Y W7D
BB AT 3 T v WITIE®D
—  BEGEEZEIRTE
5. BN
HEREAN 15
K ESHT 10H1 7HO 0% DEFEEYE(E - mlind S hEEEBRLG ) D
fREEART 1 0B  5EE5 04 NREEEENS | R4S
=R 10H10FFO0 0% NEFEEENE) D
10H15K2 5% NEFEHER] B85
AT 1 0H 1 482 54 DREEIL ] RS
10H16K0 0% NEFEHER] 5
J\ ST 9H 1 2WKF2 0% NEEEEMESE - Sl SREHEBALG ) RS
O BEHEATBERY (1 1 H OB 0 043 5)
X T A EERE T 5 PIT A WEHEE A
N 1 &P 24
PR S A 1 &P 24
=R 5 AT 1184
T = AT 4 &5 9 84
J\ S HT 8 & Ht 564

6. BEHKEDFEHR
O A fin
9 H ORI R
9 H  HRU/BEEIE RSN
10H A B\

=R MR - OUEATE R

R« M -k - SURE - tEEEITE R
REATE MY = v M

EXEWN D

X1 1 HDEHUZOWTILL 1 A6 RHRETIE

OhFrin

O4H%E

10H THREEMR

PR - SRS

10H HEFENLETE XM

11H HEFENLETE X

SR - MIEATE K



OFrhofizz 100 XM

O#BE D@ TIED (1 1 H OWF0 04H)
-[EHiE139%
- [EiE4 115 (HHEnE)
- —EE2 0 15
—HERIE 2 0 45 (HJ5HEHE)
—HENE 2 0 55
- —JEERE 2 0 6 5
« —IREE 2 0 65 (BLZEE
- TEH A 3 35 (Wi,

USEN )

i
=



